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fis -
vion 41 AD) of Cr-P.C. the Police 1. et B U 41 A (1) F ,
As per Section 42 - tice directing the el Fom e Fm e
Officer shall i{siﬂzu{glhni?c has committed a atfe i Lol Afes sl
alleged accUee " "o appear before him or T AT FW F TG, Iqh G A T
zab * ? Lf 1 i i
o uch other plac g specified in notice in |z e 13 1 e o e ke 5 5
ases w T 5 +
all the o ed wnder the _ it T Afew  Fifdee 3, rei el =2 A
(A) Provisions of Sub-Section (1) of Section 41 AT & SHTEvERdT T2l 2
(B) gro;r_isiogis of Sub-Section (1) (a) of (A) 1T 41 £ 39-4T7 (1) 3 yEgH
ection
(C) Provisions of Sub-Section (1) (c) of (B) 4T 41 1 39-491 (1) (a ) & gy
Section 41 . ¥ e
(D) Provisions of Sub-Section (1) (b) of (C) |1 41 <ht I9-4RT (1) (c)
Section 41 (D) 9T 41 1 39— (1) (b ) & JEEH
9. Find the number of termsin 1, 4, 7, 10, ..., 34. 2. 1,47, 10, ..., 34 3 g2 I TEa I10 W |
(A) 14 (B) 10 (A) 14 (B) 10
©) 12 D) 9 (€) 12 D) 9 g
2 Sl
3. Which of the following countries given below 3. Frfafea 4 & fFa <o &t ¥3% T e
is not having Veto power in the United & ftyg # offe) ara 7w 27
Nations Security Council ? (A) T
F [Elt :
(4) rance :{;gﬁ B) T
(B) India (8] 3405 i
(C) China © )
D) None of the above (D) 3ued & 4 s &
4. The Suez canal links 4, PITR____ S=dig |
(A) Red Sea — Mediterranean Sea (A) SITeT §TR-SHET "ML
(B) Mediterranean Sea — Black Sea (B) YHE G-I €K
(C) Black Sea — Dead Sea (C) =TT HIM-Hd IR
(D) Red Sea — Black Sea (D) T MR- ShIAT 91T
5. The scars on Potato are also called 5. 3 W T Fremt =Y == @R SET 27
(A) Annotation (B) Eyes (A) TIEH (B) 3t@
(C) Root (D) Ears (C) s (D) [
6. In a house there are two clocks A and B. 6. @mﬁAaﬁ(Bam%‘lAﬁgﬁﬁ?4ﬁ?{z
Clock A uniformly gains 4 minutes per hour ) 9ed Tl & 31 B # ufa 92 2 firge € ft el
and clock B uniformly loses 2 minutes per 2| 5 U F QA1 uie) | Rem e § g
hour. What will be the gap between the times ST B ?
shown in the two clocks after 5 hours ? e fire
(A) 48 minutes (B) 12 minutes (A) 48 (B) 12
(C) 30 minutes () D4 mitnutes (C) 30 fire (D) 24 fie
e 3}1116 SUIE of a number and its reciprocal is 7. T &A1 AN 36h aga%w AN HEAT AN 36w
rice the differe f th b i T G| | 98 &
reciprocal. The n:r(;ebgr is R e e e e T :
@) 3 ®) 3 @ 8 - B) 2
1
© t— 1 1 1
J3 D) +— Fr D) £
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Herbivoures are also called as 8. YRG! Hi oft ohed 2 |
(A) Decomposers (A) STTIH
(B) Producers (B) IeUTEeH
(C) Secondary consumers (C) faetuer IO
(D) Primary consumers (D) Wrefien Jaie
‘Neeru Meeru’ (water and you) programme 9, ‘f=iw (St 37 21M) Frien e TA H E
was launched in the state of e an 7
(A) Andhra Pradesh  (B) Tamil Nadu (A) 3T1Y YeT (B) dfierTg
(C) Uttar Pradesh (D) Gujarat (C) I I (D) qUd
In a sale, a perfume is available at a discount 10. T* ai[ ﬁ% Th THH fersra %ET{;
of 15% on the selling price. If the perfume’s g;_l_{mA’ W@f i f3 iél ; T
discounted selling price is Rs. 3,675.40, what . 3,675.50 2, TR e
was the original selling price of the perfume ? o AT ?
(A) Rs. 4,294 (B) Rs. 4,324 (A) . 4,294 (B) ®. 4,324
(C) Rs. 4,400 (D) Rs. 4,386 (C) %. 4,400 (D) %. 4,386
Special characters that generally cannot be 11, Ty Shieet S am: $rard 3 2fera Tl foRg
typed from the keyboard are known as Tehd FEATA @ |
(A) Symbol (B) Equation (A) Tt (B) ga?{m
(C) Number (D) Letter (C) BEN _ D)
Find the missing letters in the sequence. 12, 3Yg@H H g@ 9&A1 I i |
a_bbc_aab_caaa_bca_ a_bbc_aab_caaa_bca_ -
(A) aabbb (B) ababa (A) aabbb B) a gba
(C) bbaab (D) aabba (C) bbaab (D) aabba
13. RTOS & forg T B |
RTOS stan-ds for . oy s el LE
(A) Risk Time Operating System 1 aqiflﬂ\zll e =%
; (B) =i Trm AR e BEEs
(B) Running Time Operating System . e oo
(C) Round Time Operating System © ?ﬁa;@%a'ﬁtﬁjl fireen
(D) Real Time Operating System D) artqifen e |
gfam Frafafes w e = |
Consider the following about the 14. ‘TT{Eﬁ'q ésa'ftﬁi
Indian Constitution. 1 T AT Hi%ﬁaﬂr |
i. Uniform Civil Code. i, et < @ 1 e |
ii. Prohibition of Consumption of Liquor. i, T w.ﬁ ETET &1 |
iii. Promotion of Village Panchayath. iv. @—dcn el Y SgTE S |
iv. Promotion of the Cottage Industries. Sqdre it Rree %F{inﬁ ?
All the above are the part of ! (A) o e & Fewes fema
(A) Directive Principles of State Policies (B) e -
(B) Fundamental Duties (C) s SR
(C) Fundamental Rights o) i 3 2
(D) None of the above ) il 33
15. Headquarter of International Labour 15. {?:)E" 977 TS <h1 YA &) S
U Geneva (B) Manila B ) am ) ¥
(C) Rome (D) Hague ka0 T11
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16. Which plant movement is induced by injury ?

(B) Photonasty
(D) Nyctinasty

(A) Hydrotropism
(C) Tromatropism
17. How many times minute hand and the hour

hand point in opposite directions during
3 p.m.to 9 p.m.inaday?

(A) zero (B) five
(C) four (D) six

18. The book titled “The Republic’ was written by
(A) Plato (B) Aristotle
(C) Socrates (D) None of the above

19. In a word document
the letter only once.
(A) outlook

(C) messaging

is used to type

(B) mail merge
(D) e-mail

20. The largest salt water lake in India is
(A) Dal (B) Pulicat
% (C) Chilka (D) Kolleru
e el )|

21. How many pollen sacs presentin each anther

lobe ?
(A) Five (B) Two
(C) One (D) Three

22. A man walks 10 kms towards North. From
there he walks 6 kms towards South. Then
he walks 3 kms towards East. How far and
in which direction is he with reference to his
starting point ?

(A) 7 kms towards West
(B) 7 kms towards East
(C) 5 kms towards North-East
(D) 5 kms towards West

28. If the base radius and the height of a
right circular cone are increaged by 20%,
then the percentage increase in volume is

approximately
(A) 78 (B) 60
(C) 73 (D) 68
24, There is low yield per acre but high yield per
person in

(A) Extensive commercial grain cultivation
(B) Mixed farming

(C) Co-operative farming

(D) Truck farming

16.

17.

18.

19.

20.

21.

22,

238,

24,

%’%% CMES——SG
o e e o T e e
(A) TTEZIAA (B gk
(©) g iy ]
o w8 20 73 5 o
¢ s areh g fadr fem # € 7
(&) I (B), W=
(©) = e
“aﬁqﬁm”mwmm%@ﬁiﬁ?
&) @ (B) 3]

(©) TFm (D) I A H T
F I3 e o T TANT TH & H
Fael Tk 9N ¢fehd T o AU Ea e |

() RETF (B) ¥t wf

(C) wrafsm D) -7

I 3 @R g <l ged sl et B

(A) e (B) gfcre

©) T (D) =Iere

AT G R T e A E 7

(A) U= (B) =l

C) T (D) d=

T =fad 10 f6. 1. I it wean @ | ol A =%

6 o, 1. aféqon <t sit <ot @ | R g 3 .Y, od
1 3T TeTa { : ey 1
mﬁﬁ%ﬁ%@ﬂﬁ%ﬁg%mﬁﬁ%ﬁ
(A) afeam i aiik 7 .1,

(B) qd Y 37 7 f35 4.

(C) SW-gd it a1 5 .4t

D) ufvem § a7 5 .4,

e G At geft i <y anu firan sik S A
20% A Fefr A St B, A e F s e
sfTa <t ggfiy @nfy 7

A) 78 (B) 60

(C) 73 (D) 68

T Q fhe Yo ) @t 1 9y wwe U FH A W
+ft ufa safer sow arfys 2 7 ik

(A) SAIH AT 711 1 Tt

(B) fufda |t

(C) T @t

(D) & Gt

[11
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Sailors : Crew : :
(A) Herd
(C) Army

Sheep : ?
(B) Crowd
(D) Flock
Arjuna Award was instituted in the year
1961. It is given to sports persons for
consistent outstanding performance for
(A) over the period of last five years
(B) over the period of last two years
(C) over the period of last four years
(D) over the period of last three years

In Power point using WordArt you can easily
create

(A) Logos
(C) Banners

(B) Seals

(D) All of the above
Two ladies and two men are playing bridge-a
card game and seated at North, East, South and
West of a table. No lady is facing east. Persons
sitting opposite to each other are not of the same

sex. One man is facing South. Which directions
are the ladies facing ? (

(A) North and West  (B) East and West
(C) North and East (D) South and East

South Asian Association for Regional
Co-operation (SAARC) was established in
(A) 2001 (B) 2000

(C) 2010 (D) 1985

The book ‘Pahala Girmatiya’ was written by
(A) Gopal Krishna Gandhi
(B) Giriraj Kishore

(C) Rajmohan Gandhi .
(D) Ramachandra Guha TE
The Aadhaar (Targeted Delivery ¥
of Financial and other Subsidies,
Benefits and Services) Act was
enacted in which year ?

(A) 2019 (B) 2016

(C) 2018 (D) 2017
Body segmentation like rings is present in
(A) Annelida (B) Non chordata
(C) Chordata (D) Animalia

Which number come in the place of question
mark ?

3, 5, 10, 12, 24, 26, ?
(¢} 25 &3

G

b2
30

26.

26.

27.

28

29.

30.

31.

32,

33.
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aﬁﬂ:ﬁﬂ::‘{ﬁf{:?
A) & (B) #138
(C) o (D) T

3T ITATE il T 1961 H g | TR
m@wwmw%mmﬁﬁm
ETR |

A) o uie auf $i afy

(B) fiowt < ot it erafy

(C) Tzt = asl Y aqafa

(D) fuwet o= aut it o7afer

e e § a2aTré 1 W I U T A A
A1 G & |

(A) & (B) HI&

(C) o D) Fa+h

Jai@smAam i aaREsfE
s A1 5 7 e @ I 3 B
mqg‘aiémaﬂwfs‘zmﬁé%%lﬁ:eﬁtm
aﬁamg@wjﬁmﬁ%lwaﬁ%
i 33 =1fe @ @ R F T E | T
sfR o @ 2 1 iR R | wfeens
wg@fﬁﬂﬁwﬁ‘%?

(A) I 3R afvem (B) qd 3fit ufrem
(C) S A D) e i g

ﬁm@m@%ﬁvgﬁnwgmm)aﬁ

TG
(A) 2001 (B) 2000
(C) 2010 (D) 1985

‘geen frfear’ gﬁ%%ﬂ%m%@ﬂﬁaﬁ?

(A) M1 eft
(B) ﬁmﬂm

(C) THreA et

(D) TS T

s (fereta iR o= wfsh<t, iy 3k |anaeti &1
wfara forawor) arferfaem fomm ad e forar mar o 7

(A) 2019 (B) 2016
(C) 2018 (D) 2017

i 1 g T AR §

(A) wiferetd B) A
(C) wEa | (D) gy #

o e % T W - den st 7
3, 5, 10, 12, 24, 26, ?

(A) 48 (B) 52

(C) 28 (D) 30

T11
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Central Soil Salinity Research Institute
(CSSRI ) located in

(A) Delhi B Hisas ?%@
(C) Karnal (D) Rohtak &
UN General Assembly declared Human

Rights on

(A) 10 December 1948
(B) 10 December 1978
(C) 10 November 1948
(D) 10 November 1978

In the context of Indian economy oh‘t()’nsider
the following statements abqué] Market
Stabilisation Scheme(MSS).

I. Market Stabilization Scheme (MSS) is
a monetary policy intervention by the
RBI to withdraw excess liquidity (or
money supply) by selling
government securities in the economy.

The MSS was introduced in December
2020.

Choose the right option given below,

(A) Both the statements I and IT are
correct

(B) The statement II is correct
(C) The statement I is correct

(D) None of the above

Find odd man out of the following.

1, 4,9, 186, 19, 36, 49, 64, 81

(A) 16 B) 9

(C) 49 D) 19

In cockroach fertilisation is

(A) Both(B) and (C) (B) External

(C) Internal (D) None of these

An example of horizontal group is
(A) Chance groups (B) Class groups
(C) Caste groups (D) Peer groups

IT.

India will develop a national strategy for
phasing down HFCs in the coming year, in
consultation with the industry and conclude by
(A) 2024 (B) 2021
(C) 2023 (D) 2022

that allows
The memory management scheme ‘
the processor to be stored non-contiguously in
memory is

(A) Paging

(B) Spooling

(C) Swapping

(D) None of the above

34,

35.

36.

37.

38.

39.

40,

41.
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digwt wigen A el $fTge (CSSRI ) g

7
i (B) feam

@A) feeeft 3 .

HY e WETgHT A HIaeRr gifd for

(A) 10 fewsr 1948

(B) 10 feger 1978

(C) 10 791 1948

(D) 10 7= 1978

T Srefemaee & Hev #, IR ferlie dem

(wquETH) % 9 & Pl FeEt 7 famm fif

1. ST feeriertor T (THuEed) o7 off o
B @ Hifse A swag @ Sa d g
fasiforai st SRt s7oferaean & srfifem
AT (91 g1 ATYf) T 9198 Arft It R |

I1. GeEey i f3gsw 2020 3 37 forar may o |

frforfaa 4 @ ot R s saa ¢ |
A) I3 II 94 wyT Ot @

(B) ®¥71I T2

(C) 71 w2

(D) I9tad | | 1 7
ﬁm%ﬁ‘gaﬁﬁéﬁaﬁwﬁgﬁ:

1,4,9, 16, 19, 36, 49, 64, 81
A 16 B) 9

(C) 49 D) 19
HieRtT # Fdem gy 2

(4) (B) 3R (C) 2t
(C) iafes

éﬁawaﬁr@mm
(A) G T ®) = @

(C) ifer wgg (D) W wg
aﬁaﬁaﬁHFcaﬁé&mﬁ%mm%mﬁ
YT U TR i fresfarg s sik

T HHTS T 277 |

A) 2024 B) 2021

(C) 2023 (D) 2022

W AT el ereh U Wik o) orreifea 3uetey
A % g WS @S H wart |

(A) afsm

(B) Fyfem

(C) wifim

(D) I90aa 1 § ¢ Tl

(B) =medt
(D) ¥ & F 7l

g

S =

48
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42, If by arranging the letters of the word 42. NABMODINT v5z 3 zuif g g
NABMODINT, the name of a game is formed, | @4 " i N ;‘3’ o FuT] 1 Eﬁaﬁmﬂ‘lm
what are the first and the last letters of the %ﬁéﬁ? o[d1 &, 3H e 1 Ygert 3 a1fay aof
word formed ? HE TR 7
(A) B, N (B) B, T (A) B,N (B) B, T

43. Ina i?mﬂ-y’gt?e ﬂveraqgie age of a fatherfar}xld 43. W e, far o mran i sitad smg 3594 2 |
a mother 1s 35 years. The average age of the foar mmaﬂtmsaﬁﬁ alEq
father, mother and their only son is 27 years. » E:ﬁ‘ 37 aRA G277 AR |
What is the age of the son ? SHd e !

(A) 10 years (B) 12 years A) 109 (B) 12794
(C) 15 years (D) 11 years (C) 1599 (D) 1199

44, World Health Organization currently has 44. oS admml F g Tt ?
how many member states ? (A) 189
(A) 189 &

(B) 190 (B) 190
(C) 185 (C) 185
(D) None of the above (D) 3ad o @ s 7

45. Value of MPC lies between 45. MPC ®IAM ____ SR |
(A) O0and 1 (B) 1and 2 (A) 0 3R 1 B) 1 3 2
(C) 2 and 4 (D) 0and 0.5 (C) 2 3R 4 D) 0 3R 0.5

46. Vishing is mean for 46. faf§m Wﬁﬁﬁa% ) ‘

(A) Phishing (B) Voice phishing (A) Tefim _ (B) arg| oM
(C) SMS phishing (D) All the above (C) wHuHTy ThiRm (D) IHrea axt
47. Consider the following statements about 47. wamaﬁnaﬁ%aﬁﬁ?ﬂn%aﬁﬁﬁm%f@awﬁ
double coincidence of wantsb . e |
1. When in the exchange, both parties [, e o 2Rt ve TEH-gaU
” agree to sell and buy each other’s * : ’ E\
S commodities it is called double gl 1 e 3fR Elie < forg
& coincidence of wants.d i TerdeR e a R TETIFATS
II. In the barter system double WWWW% |
coincidence of wants is an essential ) " :
feature. 1L a@%ﬁnﬂyﬂﬂ?ﬁﬁmmmm Th
Choose the right option given below. arfrard faswar @ |
(A) Both the statements I and II are fr=ferfaa # | @@l fyeheq 1 =9 L |
incorrect ‘ @A) FA I 3 11 3 e et &
(B) The statement I is correct ®) e 1 2
(C) Both the statements I and II are (©) A B R a8
correct
(D) The statement II is correct (D) & I Hj;%
48. What is the missing number ? 48, G @ Al li
B) 4
@A) 7 (B) 4 ) 7 D) b
G (
C) 6 D) 6 (©)

T11
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49,

5¢

51.

52.

63.

T11

Which of the following gas is removed using
Scrubber ?

(A) H, (B) SO,
(€) CO, (D) NH,

One who emphasized upon uniqueness of
Indian culture and civilization and studying
Indian society as a whole is

(A) The traditionalist
(B) The nationalist

(C) The cosmopolitan
(D) The radicals

If the letters of the word RANDOM are
written in all possible orders and thege
words are arranged as in a dictionary, then
the rank of the word RANDOM is

(A) 616 (B) 613

(C) 614 D) 615

Enlargement of the thyroid gland ig
commonly called as

(A) Goitre (B) Hyperthyroidism
(C) Cretinism (D) Mutism

Select the correct mirror image of the given
figure when the mirror is placed at line AB.

Ne>

o |
=5~ L
(e g [
(@ ILE

49,

50.

52,

63.

CMES - g

ﬁm%fiaaﬁz)aéh—mﬂaaﬁw%mm
BTN ST Gl & 7

@) H, (B) S0,
(©) Co, (D) NH,
et s depfa aite avern i Fafare oy,
ﬁmaﬂtwmz}waﬂumaﬂawmﬁm,
2l
(A) TETd}
(B) Trgarel
(C) Fremnifre
D) Hewem
afe RANDOM 3re% & amﬁﬁmf_r
qutfad st 4 forar sy ofk 39 wredt
H Uh WEHN & w9 H sqaieg h
SITY, @ RANDOM 3158 1 %5 8y
(A) 616 (B) 613 [
(C) 614 (D) 615 i
%mﬁsngﬁxwaaaﬁmma: FHEAT]
|
(A) ¥ (B) formemmifimy
(C) s (D) Tt
aﬁﬂﬁmmaﬁmwﬁﬁaﬂﬁnwa&wﬁ
AB W 1@y ST 2|
!

N
=y

GY) <:|A B)
AN

7 P—

o | N
I

v

©)
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b4.

55.

56.

57‘

58.

59.

60.

61.

What was the theme of World Leprosy Day —
2021 °?
(A) Leprosy is not what you think

(B) Beat leprosy, end stigma and advocate
for mental wellbeing

(C) Ending discrimination stigma and
prejudice

(D) None of the above

A is B’s brother. C i1s D’s father. E is B’s

mother. A and D are brothers. How is C
related to E ?

(A) Niece (B) Wife
(C) Sister-in-law (D) Husband
NO,
Sn+HCl .
orFerHOL ~ AT

(A) Ethanamine
(C) Allylamine

(B) Aniline
(D) Toluene
Which research technique would most likely

be used by a symbolic interactionist ?
(A) Questionnaires

(B) Participant observation Eﬂ%ﬁ
(C) Surveys ORI

(D) None of the above

If 3 persons weave 168 shawls in
14 days, how many shawls will 8
persons weave in 5 days ?

(A) 160 (B) 90
(C) 126 (D) 105
In page tab, is used to reduce or

enlarge the print.
(A) orientation (B) paper size
(C) page numbering (D) scaling
In a certain language, TOOK is coded as 61, CAN
is coded as 18, then GUAVA will be coded as
(A) 57 (B) 52
(C) 62 (D) 54
offences cannot be investigated
by the Police on their own, unless directed

by the courts having jurisdiction to do so.
(A) Non-bailable (B) Cognizable

(C) Bailable (D) Non-cognizable

-90-

b64.

55.

66.

67.

58.

59.

60.

61.
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ferva g e — 2021 T S ya R o ?

(A) &g = 7€ N o7 T 3§

(B) I ! BUMI, Theieh G T 31T TGS
L 6] FRTAT R

(C) w&IqTd shedeh TR B11 <1 TaT e

©) 3 A AFE T

ABHYERIC,DH a2 IE, B

FHRIAINDWER IC WER

FT G B 7

(A) wrefisit
(C) wrsft

Sn+HCI 218
—_— A
or Fe+HCI

(A) 33T (B) wHiferm

(C) AR (D) <egd

TelterTenes ot farardl g e My qels @l
TR 37 39 faRn st ?

(A)W?'ﬁ

(B) wfearmft sraetie

(C) waam _

(D) Iea # | FIE el

Ife 3 =affr 14 RAT A 168 Wi 37 2, @t 8 AT
5 f o e wiie g1 7

(A) 160 (B) 90

(C) 126 D) 105

It 3 H, 1 A B ) gem a1 sgr
¥ R A ? | -

e v TOOK &1 %2 61, CAN ®1%2 182,
R GUAVA I Fe &

(A) 57
(C) 62

(B) 52
(D) 54

aqqel) <) i qierE ST - 91Ty el X
et e R 3 IR €14 38 PR 1 e
S R QAR 1} 98 a.lldl G |
(A) Ne-spird (ll;) g;_uq_kqal
(©) Buieal ©)
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Iviﬂ'gl:

An electron having mass (9.1 X 10 kg) and 62. FEMM (9.1 x 10743 71 37T TR (1.6 10°°C)

e charge (1.6 X 1077°C) moves in a circular path Tl O SeiigH Ueh eTohid &1 H T o 1053 -
of radius 0.5 m with a velocity 10°ms~! in a ¥ o1y B=gr 0.5 M. & T Trﬁ'q gy o PURH -8
magnetic field. Strength of magnetic field is REETD! &7 & vfad 2
(A) 3.6 x 10°T (B) 1.13 x 10°T (A) 3.6x 10T (B) 1.13x 10T
(C) 2.8 x 10°T (D) 5.6 x 10-°T (C) 2.8 x 105T (D) 5.6x10°T

63. In which battle Pulakeshi II killed 3;@;;11 Riire i ?
Mangalesha ? % I ﬁh‘ﬂ 3 4 aﬂqﬁmw ﬁm{ . g »

(A) Ellwattusimbige (B) Manimangala (A) T IQIE for (B) e B \"'Eg

(C) Suramara (D) Narmada (C) guHu (D) Har SR
64. is used for tracking inflation. 64. aa’rscﬁri%r 1 a1 W@ * forw g e |

(A) WPI.IW (B) WPI — (A) WPI-IW (B) WPI

(C) CPLIW D) CPI ﬁ}% (C) CPLIW (D) CPI

65. The calenda.r qf the year 1992 can 65. 1992 = Fetvet fhe @ forg o Iuan foawar < wehar

be used again in the year 27
A) 2 ;
Ecg 28%2 (g) 2010 (A) 2016 (B) 2010
(D) 2020 (C) 2018 (D) 2020
66. H.C.F.and L.C.M. of p3g*rSand péq’r? are 66. p3q'r® 3TN pSqr* 1 HEGH THYTAH IR SRGL

Foarmnotice.Com

(A) PZerﬂ p°q’r® (B) p%*q®*, piqr?

(©) piq3rd, péqiri (D) p3q2r¢, poqire
T AT F2H01 T R 57t ey )

(A) p2q3r4’ p6q4r3 A [aida‘%

(C) p3q’r!, pbqirt

(B) p*¢’®, piqrd
(D) pq’rf, pbq'rs

67. is one way encryption algorithm 67.

that does not use any key to encrypt or
decrypt the data.

FITE FH 41 He Tield F f
ESEnGill w SRR gt

(A) Symmetric cryptography %&i@% e
(B) Public key cryptography Eg; feers 5 %@Hﬂtﬁ’l
(C) Secret key cryptography de aﬁﬁﬁ -
(D) Hash function ((S; Sy ﬁi’gﬁ
68. Name the deposits have g fixed period t
maturity . 68. 39 ST Bt A SiED Ffeera gftgee
(&) Recurrent deposits ety et 2 e i
(B) Time deposits Bl
(C) Current deposits () Ze
D) Savingg deposits ((gi 2%:?1
69. Drug prices in Indig are regulated to en :
continued availabi?ity and affﬂrdabilitiuii' o W,ﬁ SRR a5 T Iy
essential lifesaving drugs with improved ﬁmﬁﬁﬁt‘gﬁ%ma RS I Chpico gl sfrfrl
access to consumers by ﬁﬁiﬂ??ﬂa@m 3R FEsfra v
(A) National Drugs Manufacturers %‘Qﬁqﬁa l SEIEED FAF
Authority (NDMA) Q) S LG )
(B) National Drugs Authority (NDA) kA ﬂw ST (NDMA)
(C) National Pharmaceutical Pricing B) et g FANE (NDA
Authority (NPPA) (©) 3,
(5 Ton | (D) T TEET siedfiet (NPPA)
i b W -10-
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70. A group of districts form a which 70. ol U UYR Ueh GEICIEE
is looked after by an officer of the rank of . sty ; 3%‘“3‘?
Deputy Inspector General of Police. Wﬁq&m 3 T el ) 2@ e |
(C) Circle (D) Block (C) 3t (D) @z :

71.  The coagulation of egg white on boiling is a 71. 3T T 37 & GHa W 1 Thad U120 3
common example of of protein. 1 TR R | S
() rancidification  (B) oxidation (A) iRt g ®) 3w e
(C) denaturation (D) densification (© ﬁiﬁ?ﬁﬁ‘m (D) gtaTo A

72. From the given answer figures, select the | 72, & 7 3w fertt § @ 97 oMl 9T o um
one in which the question figure is hidden/ 3TeHfa gl & /awTled & (FAT 1 3rgAfa T ) |

embedded (Rotation is not allowed).

— _: S
&) k ®) % @) E ®)
© % D) ﬁ 1Y © [N o) E]

1 3 g .
78.  Which pair of rational numbers lies between | 73. 3R ﬁ st yf gt &1 aF g9

l and -3-? B ?
) i 262 752
262 752 A 9 31 B) oy
&) %' % B) 1600’ 1000 % 40" 40 ®) Tooo’ 1000
24 174 252 748 o 24 T4 o 252 748
© 100’ 100 ®) 1000’ 1000 © Too’ 00 1000° 1000
74. Ascaris causes disease in 74, Tehf@ __ HIWSH@IR |
(A) Heart (B) Intestine (A) BT (B) A1d
(C) Eyes (D) Brain (C) M (D) wf&rh

i i i ¥ whagor, amafd wvT o qE Y U
76. The paid servant appointed by East India 75. EFI?R:[ ,
Cofn I:'any to supervise weavers, collect Y glen ¥g $ee 3 g fagea Qa 5w

supplies and examine the quality of cloth

T B) srifert
(A) Gomasthas (B) Zamindars (A) (B)
(C) Lathiyals (D) Jobbers (©) wfsard (D) ST
i | upElar: R
76. TFDI in food processing is to the extent of 76. @l e A Uhel g : m:‘
(A) 100% (B) 10% (A) 100% (1); 503
(©) 76% (D) 50% (©) 76% (01 vR

T11
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If the third day of a month is Monday, which
of the following will be the fifth day from 21
of the month ?

(A) Wednesday (B) Monday

(C) Thursday (D) Tuesday

A man can row 6 km/h in still water. If
the speed of the current is 2 km/h, it takes
3 hours more in upstream than in the
down-stream for the same distance. The distance is

(A) 32 km (B) 30 km
(C) 20 km (D) 24 km
In Excel error occurs when the cell
reference is invalid.
(A) #DIVIO! (B) #NAME?
(C) #REF! (D) #VALUE!

The cost of having a little more of one good
in terms of the amount of the other good that
has to be forgone is known as

(A) Replacement cost

(B) Historical cost Eiﬁ?e
(C) Opportunity cost GRE(E

(D) Accounting cost

For a certain metal, incident frequency

Y is five times of threshold frequency ¥
and the maximum velocity of coming out
photoelectrons is 8 x 10¢mg-!, If Y =2y, the

maximum velocity of photoelectrons will be
(A) 1x 105mg-? B) 4 x10°ms!?
(C) 8 x 10°ms™! (D) 6 x 10°ms™!

Saroj doesn’t like Dipankar. Pooja doesn’t
like Saroj. So, it is surprising that Pooja’s
son Hardik likes Dipankar.

Which of the following, most strongly,
Weakens the above argument ?

(A) Hardik does not like Saroj

(B) Pooja likes Dipankar

(C) Hardik likes Saroj

(D) Saroj likes Pooja

The difference between the Revenue Receipts
plus Non-debt Capitnl. Receiptg (NDCR) aid
the total expenditure is called

(A) Trade surplus

(B) Figeq) de
(C) Trade deficit

s ficit
(D) § iseal gy,

rplug

-12-

J i o

78.

81.

82.

83.

CMES - gq

(&) T il
(C) T () TR

ae oo gt o s%n?/tiz_rﬁmn@ﬁg
?ﬁ%luﬁmﬁnﬁg%ﬁﬁa%‘,mm@
F fore sroedin o gE A SRA-RW A 392 sy
A €, g 2

213

@A) 32 Bl B) 30 fet

(C) 20 Tt (D) 24 ferrft
wEH R IN 59 A gl sy A 3
(A) #DIVIO! (B) #NAME?

(C) #REF! (D) #VALUE!

femelt req = efver @ srfiren el o1 aeg i
& =eel H o forl Brg 3y e, FEAT R |
(8) wfoeam= S

(B) Uftreriie @mra —
(C) Fgar AT B
(D) &@T =T DiHGD

Forelt g & fora, st amfiy Him ey A
IO 3 ST 311 R Breigstger ) s

8 X 108mg-! ? ]Uﬁw:z a?ﬁtﬁagéagﬂw
I i

(A) 1x 105mg-!

(B) 4 x 10°ms™!
(C) 8 x 105mg-?

(D) 6 x 10°ms™!
TS TR Y e 7 et 2 | ST &S 1 THG

TRIHE R | 3af g e Y e @ Fop g 36 8
T = it qeig 2 |

®B) TN i =t weie ey 2
©) =fd = T ez 2
(D) =S Y 577 i 2

Wmﬁmmsﬁmﬁaf‘ﬁﬂmﬁuﬁmncm

3N G =7 ¥ st 57 3 AT |
(A) SR 37y (B) TSN BT
(C) TR = (D) TSR anfirdy
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Where is the Great Bath of Indug v
Civilization located ?
(A) Kalibangan

alley

(B) Harappa

(C) Mohenjodaro (D) Lothal
10x10x10+(20+10x%x 10 =10 +6=29
(A) 106 (B) 108) '
(C) 114 D) 111

Secret key cryptography is also called
(A) symmetric encryption

(B) asymmetric encryption

(C) plain encryption

(D) none of the above

In this question, two statements are given
followed by two conclusions. Choose the
conclusion (s) which best fit (s) logically.
Statements :

1. Some Ais B

2. Some B is not C
Conclusions :

I[. Some Cis B
II. Some Cis not B
(A) Both conclusions I and II follows
(B) Only conclusion II follows
(C) Either conclusion I or II follows
(D) Only conclusion I follows

Recently erupted active volcano from Mount
Merapi is in
(A) India

(C) Indonesia

is the process of changing
the appearance of text and making
presentation easier to read. .
(A) Adding graphics  (B) Formatting
iti ting
(C) Editing__ (D) Presen
(R Cinﬁan planes. Fifty percent

Cars are safer :
of accidents result in death, while only one
result in death.

percent of car accidents
Which of the following, if true, wouldqmost
seriously weaken the argument above ?

lly the fault of

(A) Plane accidents are usually
air traffic controllers, not pilots
than cars

(B) Myanmar
(D) SriLanka

(C) Pilots never fly under the influence of
alcohol, while car drivers often do

(D) The number of car accidents is several
hundred thousand times higher than
the number of plane accidents

-18-

84.

85.

86.

87.
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o Wt <) v fremer = i
e ? e
(A) @t (B) &gom
(C) AiRierel (D) eAga
tg)x 10X 10+ (20+10% 10— 10) + 6 = ?

106

i B 1
T(ﬁ:)vﬂa e Higwd g
(B) uffufess sfsrem
(C) @ FHfheeH
(D) 3= # 4 13 T
39 Y H, 3 e fiu e 8 s wi1g 9t fend fiu

. $5C BRI

IL. 'C'Bqﬁjﬁ;'

(A) =it fsed 1 3 11 sTgeor st 2 |
(B) S foeehd 11 779107 &hidl 2 |
(C) Tt ferd 1 [T S7gawor Fal ¢ |
D) e Foeehed T STgaeer e 2 |

88. W3 AU A A € H FeAATen WiskA STyt
_ #H7l
(A) s (B) HHAR
(C) e (D) st

89. Jereg Y sTTae ) AR S TR SR
Y e ¥ foru sram sw i i R |

mgiE A e e (B) 9T&Eqv]

Bl () e (D) wegfrFw

90.

fomm @ ft saTeT gUaE @ W | faee geee
Wﬁﬁmﬂﬁ?ﬁ%,ﬁaﬁaﬁawgﬁmm

# @ FM-71, 7R 7 R, d W Ry
e o Ferd TR EY A HES R 7 o
@A) ﬁﬂwmmmmw
) Trerd! A B €, 7 foh araered ) et @
(B) i <t gern 3 fammt et arfiver s fadaor
e AT @ ‘
(C) yraere &Ml o} Y & A9 A Ig el
el T <ITeTeh T LHT &t
(D) T gefemall ) s fomm gefamai <6l
Hea A w8 el T A
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AR

English Language i
. . 96, ‘afy AW TRE, _____ SHE T
91. Fill in the blank with appropriate phrasal :
verbs from the alternatives given below it. e g |
He business in the absence of his @A) =&
father.
(A) carried off (B) carriedout = - @)
(C) carried away (D) carried on (C) ¥
92. In the following question has four words (D) i 8 i3 el
(options) of which three words have a similar ’
meaning or are synonyms one of the words 97. ‘Ugd gHME CEn U CIER aﬁialtq l %; T -
has a meaning different from the rest. Select [ st
that word/option as the answer. | !
(4) Distinguish (B) Differentiate (A) T G o< T e
(C) Licentious (D) Discern (B) THd I G ST ST@T
93. Choose the right synonym of the given word. (C) Tga 9™ S99 gl @
EI9E Charity ;
?Da:% (A) immaculate (B) blame 2 R T
=TE (C) benevol def; . ¢ ;
© B (R) defrand 98. {1 @ @1 el wadi ht ferdwan s et R, 3%
94. Thefollowing sentence contains grammatical -~"°§% 3
error or idiomatic error in it. You have to © ey |
find out that part of the sentence and choose (A) T farsaor
the alphabet of that part as your answer. ®) fes
No sooner had I reached the office when I got
the news of your arrival. (©) =
(A) news of your arrival (D) 7 ¥ IS e
(B) No sooner had
(C) when I got the 99. = A I@H W 7T, WA ____ F&
(D) I'reached the office T IZTET ¢ |
Foawnotce Com
95. In the following question, part of @) w4
the sentence is underlined. Below (B) =IO
are given alternatives to the
underlined part at (4), () and (C) (©) =i
which may improve the sentence. ¥
Choose the correct alternative. In D) w3 R
case no improvement is needed freht
your answer is (D) At o 1 urd a %’ Sl aqui T - &
Kiran was so afraid that his knees ﬁ'@—a'ﬂ:n, F, T AR |
knocked one another (
- A) SmefH
(A) both (B) and (C) £ AR
(B) each other (B)
(C) one against sy (C) 7=
(D) no improvement ?J‘l«% (D) A I 7

T11
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